
同梱部品（必ずご確認ください） / Package Contents（Please confirm） / 配套产品（请务必确认）

取付け手順 / Installation  Procedure / 安装顺序

製品仕様 / Product Specification / 产品规格

■ 施工・取扱説明書 / Installation・Instruction manual / 施工・安装说明书 DA-173（ドアハンドル / Door Pull Handle / 门把手）

www.kawajun.co.jp
NO.001

(mm)

耐荷重 / Load capacity  / 耐荷重：588N (60kg f)

P900

67

1200 25
AC803

良い例

悪い例

良い例

悪い例

良い例

悪い例

本体セット
Pull Handle Set
本体套装 ×1

ゴム管(ガラス扉用)
Rubber Tube(For Glass)
橡胶管(玻璃门用) ×2

取扱説明書（本紙）
Instruction Manual（this paper）
安装说明(本紙)×1

M8×75 取付けネジ
M8×75 Installation Screw

M8×75 安装螺丝 ｘ2

◎ 取付け手順 / Installation Procedure / 安装顺序

①本体セットに仮固定された本体固定ネジとM8×75取付けネジを外し、本体Aと本体Bをコネクターから取り外します。

②扉の取り付け穴に合わせ、本体BとコネクターをM8×75取付けネジとバネ座金にて取付けます。

　（ガラス扉の場合は、ガラスにφ16穴を開けゴム管を挿入した後、本体BとコネクターをM8×40取付けネジとバネ座金にて取り付けます。）

③コネクターに本体Aを差し入れ、本体固定ネジで取付けます。

①Remove the assembly screws and M8×75 installation screws from the pull handle and separate Main Body A and B of the pull handle from the connector

②Align Main Body B and Connector with the installation hole on the door and fix them in place with the M8×75 installation screws and washers provided

　 (For glass door installation, please insert the rubber tubes into the φ16 hole opening and fix the Main Body B and Connector in place with the M6×35

　 installation screws and washers provided)

③Cover the connector with Main Body A side of the pull handle and secure it in place with the assembly screws

①拆下临时固定在本体套装上的本体固定螺丝和M8×75安装螺丝，然后从底座上拆下本体A和本体B。
②与门上的安装孔对齐，并使用 M8×75 安装螺丝和弹簧垫圈连接本体 B 和底座。
　(安装在玻璃门时，在玻璃上开一个φ16孔，并插入橡胶管后，用M8×40安装螺丝和弹簧垫圈连接本体B和底座)
③将本体A 插入底座，然后用本体固定螺钉固定。

本体B
Main Body B

本体B

本体固定ネジ
Assembly Screw

本体固定螺丝

M8×75 取付けネジ
M8×75 Installation Screw

M8×75 安装螺丝

バネ座金

Spring Washer
弹簧垫圈

コネクター
Connector

底座

ゴム管(ガラス扉用)
Rubber Tube(For Glass)

橡胶管(玻璃门用) 

本体A
Main Body A

本体A


